

$$\frac{u-a}{u^2+au+b} \rightarrow \text{مخرج به صورت دایره} = \text{مخرج به صورت دایره}$$

$$u^2+au+b = (u-\alpha)^2 \Rightarrow a = -2\alpha \quad b = \alpha^2$$

$$\lim_{u \rightarrow \infty} \frac{f(u)}{u^2+au+b} \rightarrow \text{در صورتی که} =$$

$$(u-\alpha)^2 = u^2 - 2\alpha u + \alpha^2$$

$$b = \alpha^2 \quad a = -2\alpha \Rightarrow$$

$$\left| \frac{b}{a} \right| = \left| \frac{\alpha^2}{-2\alpha} \right| = -\frac{1}{2}$$

$$\left(\frac{1}{\sqrt{e}} \right)^+ \rightarrow a$$

$$\frac{-2 + 9}{1 + \frac{1}{e} + a}$$

$$\frac{1}{e} + a = -a \Rightarrow -2a = \frac{1}{e} \Rightarrow a = -\frac{1}{2e}$$

$$14 \times \left(-\frac{1}{e} \right) - \left[\frac{2}{\left(-\frac{1}{e} \right)^2} \right]$$

$$\frac{2ex - \frac{1}{e} + \sqrt{\frac{2}{\left(-\frac{1}{e} \right)^2}}}{-2 + 14} = \frac{-1 - 2}{-2 + 14} = \frac{-3}{12} = -\frac{1}{4}$$

$$\lim_{u \rightarrow \infty} \frac{u^2 - \Sigma}{u^2 - \sqrt{r^2}} = \frac{u^2 - \Sigma}{u^2 - \sqrt{r^2}} \Rightarrow \frac{0}{0} \rightarrow \text{HOP} \Rightarrow \frac{r_u}{r_{u^2}} = -\infty$$

$$\frac{r}{4}$$

$$-1 \rightarrow \frac{0}{0} \text{ indeterminate} \Rightarrow \text{L'Hopital's} = \frac{r_u + 10}{\frac{4}{r^2 \sqrt{u^2}}} = \frac{-4}{\frac{4}{r^2}} = -1 \checkmark$$

$$\lim_{u \rightarrow \infty} \frac{\sqrt{r + r_u} - \sqrt{r - u}}{\sqrt{1 - \cos u}} \times \frac{-\sqrt{1 + \cos u}}{1 + \cos u} = \frac{\sqrt{r + r_u} - \sqrt{r - u}}{1 - \cos u} \checkmark$$

$$\frac{\sqrt{r + r_u} - \sqrt{r - u}}{1 - \cos u} \stackrel{\text{L'Hopital's}}{=} \frac{\frac{r}{2\sqrt{r}} + \frac{1}{2\sqrt{r}}}{\sin u} = \frac{\frac{r+1}{2\sqrt{r}}}{-1}$$

$$\frac{\Sigma}{2\sqrt{r}} = \sqrt{r}$$

$$\lim_{u \rightarrow \infty} \frac{k + \cos(\sqrt{a} u)}{k u^2} \Rightarrow \frac{0}{\infty} \rightarrow \frac{a u^2}{r} + k \quad \text{HOP} \Rightarrow -A$$

$$\frac{r_u}{r_{k u}} = 5 \quad \frac{r a}{r k} = 10 \Rightarrow \frac{a}{k} = 10$$

$$\frac{r \sqrt{u - r a} + r \sqrt{u} - \sqrt{r a} r \sqrt{r a}}{\sqrt{u^2 - 9 a r}} = \frac{r \sqrt{u - r a} + r (\sqrt{u} - \sqrt{r a}) \times \sqrt{u + r a}}{\sqrt{u^2 - 9 a r}}$$

$$\frac{\sqrt{u + r a} (r + \frac{r}{\sqrt{u + r a}})}{(\sqrt{u - r a})(\sqrt{u + r a})} = \frac{r + \frac{r}{\sqrt{u + r a}}}{\sqrt{u - r a}} = \frac{r \sqrt{u + r a} + r}{\sqrt{u - r a} \sqrt{u + r a}}$$

$$\lim_{n \rightarrow \infty} \frac{1 - k[n]}{n^r - 1} = -\infty$$

$\begin{matrix} & & + \\ & & -1 \\ & \swarrow & \\ & & \frac{1 - k[n]}{0^-} > 2 \\ & \searrow & \\ & & -1^- \\ & & \frac{1 - k[n]}{0^+} < 0 \end{matrix}$

$$1 + k > 0 \Rightarrow k > -1$$

$$1 + rk < 0 \Rightarrow rk < -1$$

$$-\frac{1}{r} < k < -1 \quad k < -\frac{1}{r}$$

$$\cos k\pi < 0 \Rightarrow \frac{\pi}{2} < k\pi < \frac{3\pi}{2}$$

r

Scanned with